

Region: 5

Location: MD019

CSS #: 20811

Maximo Work Order No.: 10605

Asset #: NA

Date Issued: 08/21/19

Original Description: Need to have Bond chemical go out add glycol and test to bring up to 30% Glycol.

Repairs Needed:

Propylene Glycol Recovery and Propylene Addition.

RS Means Line Buildup and Labor Summary (Data Version 2017, Q4):

Quantity	Line Item Number	Description	Labor Hours	Labor Rate/Hr	Materials	Equipment	Total
1	NA	Bond Quote (See Attached for detail)			\$5,412.87	\$1,320.00	\$6,732.87
--	NA	Labor Bond 3 Tech	24	\$61.67	--	--	\$ 1,480.00
--	NA	Labor SS Mechanical	9	\$95.00	--	--	\$ 855.00
--	NA	TWI Oversite and Coordination	4	\$80.00	--	--	\$ 320.00

Estimate Summary:

Labor Hours	Labor Cost	Material Cost	Equipment	Total Cost	CE Factor	Total Estimate
37	\$ 2,655.00	\$ 5,412.87	\$1,320.00	\$9,387.87	106%	\$9,951.14



WATER TECHNOLOGIES, INC.

QUOTE

Supported By Technology

Propylene Glycol Recovery and Propylene Addition Quotation for MD-019

Date: August 20, 2019
QUOTE #1129
Expiration Date: 12/30/19

To Adam Colopy
Tidewater Inc
MD-019
12100 Greenspring Ave
Owings Mills, MD 21117

Salesperson	Job	Shipping Method	Shipping Terms	Delivery Date	Payment Terms	Due Date
Jon Miller, CWT	MD 019	BOND	BOND		Net 30	12/30/19

Qty	Item #	Description	Unit Price	Line Total	
250 Gal		Glycol Removal from site	\$1.98/Gallon	250 gallons	\$495.00
4 hours		Glycol Removal Truck Fee	\$170.00	4 hours	\$680.00
4 hours		Boiler Glycol Draining in Totes	\$185.00	3 technicians - 4 hours	\$740.00
4 hours		Installation of New Glycol	\$185.00	3 technicians - 4 hours	\$740.00
5 x 55 Gallons		Intercool P-300 100% Concentrate Propylene Glycol	\$15.71/gallon	275 Gallons	\$4,320.25
		Glycol Delivery with Lift Gate	\$100.00		\$100.00
		Pump with compressor rental delivery and pickup	\$640.00		\$640.00
		Empty Drum Delivery and Pickup	\$100.00	Delivery and Pickup	\$200.00
				Subtotal	\$7,915.25
				Sales Tax	\$297.62
				Total	\$8,212.87

Quotation prepared by: Jon Miller, CWT Account Manager

This is a quotation on the goods named, subject to the conditions noted below: (Describe any conditions pertaining to these prices and any additional terms of the agreement. You may want to include contingencies that will affect the quotation.)

To accept this quotation, sign here and return: _____

Questions? Please contact Jon Miller, CWT @ 301-580-9820



S&S MECHANICAL

S&S Mechanical

Location: SSG Isadore S. Jachman USARC
12100 Greenspring Ave
Owings Mills MD, 21117

Proposal Submitted to: Adam Colopy

Project: MD019 Glycol WO#10605

Office # 301-574-1555

Fax # 301-574-1558

seth@sandsmidatlantic.com

sandsmidatlantic.com

S&S proposes to come out and assist Bond Water Technologies during the completion of the glycol job.

Labor: \$855.00

1 HVAC Technician/9 Hours/\$95.00 rate= \$855.00

Full estimated total: \$855.00

Payments to be made as follows: 15 days upon approved invoice

Respectfully submitted: Brian Davis/Lindsay Ruby Dated: 08/21/19

